Form P-359 Rev. 3-10-2017

AHTD TABULATION

		DESCR	RIPTION:			_	
Snow Plows					CONTRACT NO.:	H-17-335H	DATE OPENED: 6/6/2017
DELIVERY:					FOB:	Batesville, Little Rock, Harrison, & Paragould, AR	PAGE: 1 of 4
Henderson Products Inc 1085 S. 3rd St VENDOR: Manchester, IA 52057 Janet Tobin 563-927-7267 jtobin@hendersonproducts.com						Hamson, & Faragouid, Aix	
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	7,361.00	14,722.00	HENDERSON	12X36RSP HCH	120 Days ARO	6/6/2018
2.	5	6,942.00	34,710.00	HENDERSON	10X36RSP HCH	120 Days ARO	6/6/2018
3.	8	6,778.00	54,224.00	HENDERSON	10X44 J STYLE HCH	120 Days ARO	6/6/2018
4.	2	8,182.00	16,364.00	HENDERSON	124869	120 Days ARO	6/6/2018
TOTAL: 120,020.00							
TENITATIVE AVAIADD DV:						DATE	CARD: 01-49
TENTATIVE AWARD BY:							
	AW	ARDED TO:				ITEM(S):	
						ITEM(S):	
AWARDED TO:						ITEM(S):	

Form P-359 Rev. 3-10-2017

AHTD TABULATION

DESCRIPTION:

Snow Plows					CONTRACT NO.:	H-17-335H	DATE OPENED: 6/6/2017
					-		
					FOB:	Batesville, Little Rock,	PAGE: 2 of 4
DELIVERY:						Harrison, & Paragould, AR	
Valk Manufacturing Company P.O. Box 428 VENDOR: New Kingstown, PA 17072 Robert P. Lang 717-766-0711 ap@valkmfg.com							
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	9,009.00	18,018.00	VALK	RTP1236-116 PRC-ECT	120 Days ARO	9/1/2017
2.	5	7,404.00	37,020.00	VALK	RTP1036-116 PRC-ECT	120 Days ARO	9/1/2017
3.	8	7,482.00	59,856.00	VALK	RTP1044-116 PRC-ECT	120 Days ARO	9/1/2017
4.	2	8,777.00	17,554.00	VALK	RV1036-116 PR-ECT	120 Days ARO	9/1/2017
		TOTAL:	132,448.00				
							CARD: 01-49
TENTATIVE AWARD BY: Purchasing Co					DATE: 7/6/2017		
AWARDED TO: Valk Manufacturin						ITEM(S): Complete Bid	
AWARDED TO:							
AWARDED TO:						ITEM(S):	
AWARDED TO:						ITEM(S):	

Form P-359 Rev. 3-10-2017

AHTD TABULATION

$\overline{}$	ᆫ	\sim	ΙОΤ	ION∙	

Snow Plows					CONTRACT NO.:	H-17-335H	DATE OPENED: 6/6/2017
DELIVERY:					FOB:	Batesville, Little Rock, Harrison, & Paragould, AR	PAGE: 3 of 4
DELIVERY: Henke Manufacturing 3070 Wilson Ave VENDOR: Leavenworth, KS 66048 Richard Deka 913-680-9646 rdeka@henkemfg.com						namson, & Paragouiu, AK	
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	9,288.00	18,576.00	HENKE	36R12 TT	45 to 90 Days	12/31/2018
2.	5	9,159.00	45,795.00	HENKE	36R10 TT	45 to 90 Days	12/31/2018
3.	8	9,628.00	77,024.00	HENKE	43R10JECT TT	45 to 90 Days	12/31/2018
4.	2	8,605.00	17,210.00	HENKE	36R10PCL	45 to 90 Days	12/31/2018
TOTAL: 158,605.00							
							CARD: 01-49
TENTATIVE AWARD BY:							
AWARDED TO:							
AWARDED TO:							
AWARDED TO:							
	ΑW	/ARDED TO:				ITEM(S):	

Form P-359 Rev. 3-10-2017

AHTD TABULATION

DESCRIPTION:

Snow Plows					CONTRACT NO.:	H-17-335H	DATE OPENED: 6/6/2017
					FOB:	Batesville, Little Rock,	PAGE: 4 of 4
VENDOR:	P.O. B Morley Daryl H	Cives Midwe ox 295 , MO 63767 Hay 573-579- vikingcivesm	3019			Harrison, & Paragould, AR	
ITEM NO.	QTY.	PRICE	EXTENSION	MAKE	MODEL	DELIVERY	ADDITIONAL UNIT PURCHASES
1.	2	8,743.00	17,486.00	VIKING	MW36R12 TT	4 Months	9/1/2018
2.	5	8,417.00	42,085.00	VIKING	MW36R10 TT	4 Months	9/1/2018
3.	8	8,783.00	70,264.00	VIKING	J41R TT	4 Months	9/1/2018
4.	2 NO BID						
	-						
		TOTAL:	129,835.00				
			0,000.00				CARD: 01-49
TENTATIVE AWARD BY:						DATE:	07110.
AWARDED TO:						ITEM(S):	
AWARDED TO:						ITEM(S):	
AWARDED TO:							
AWARDED TO:							